s 7 A 162 1

LERE
56 HEHAIBIRT | 100 100
Ak
o 102 102
(it 107 107
:J;EIC SR FTEER A S B 103 5 F 57T SSIIHE 107 & oo B BRI E S
R RETRE102 4

104 7 2 5] > BiEE 8 =~ > 4107 * R EEBEG 0 (2T SHAEY 100 % -
VB GEIEp 5~ BEE  (fr2 PV 4.67% > ALY 4.67%
PSRN EY 102 C BERE > 72 Pl 95.33% 0 AT 95.33% ¢

104 = 2 F] I BE [ Fl'%[ﬁl" PrOEER C B S L REPIR P 102 * o A
EHEL S R FHMFH O F0 " FRERE B 1

100 N GERFED A 1N RGBT O b gt S 0 b e
PSTIHH 81 101 % 11 £] 19 FUBIHiXE = a5 = f > 11015 115 19 1%
;&a@»ﬁ R E AR o 102 5 2 K] 18 [ EERI Y A

103 55 Q2 F)ZEIC SEFH 8 Pewwt

i e MR
103 & | 103/08 | 103/09 | 103/10 | 103/11 102/12 | 103/01 | T &f
3,385 3,374 | 5,163 4,926 4,235 4,610 25,693
103 ™ 104/02 | 104/03 | 104/04 | 104/05 | 104/06 | 104/07 | T &f
2,773 2,773
PS1.5# F |1 i EIJ? ﬁ%ﬁ‘ A B ET’[‘?E’;’?@E FITSBHETE = %~ W Ipia
103?‘%‘&#’El103 8 F|-104 = 7 F[H  ~ %o

103 + 8

3 .

(B %

£]-104

&

TR e

103 585

1] ﬂ[]{ MEPEL 25,693 MR > 104 F 2 F[-104 F 7 F| s

~ Hrsk SR 103 & 10

FI .V 5,163 * % & pE; 104 =+

CESTORIE O R R

2 F| 1 2,773 * %)

F[E] 5

i

104
02

104
03

104
04

104
05

104
06

2| —,
n\‘Fi AR

6,632

18




LEE

o [ e | s 8
TR
g% |25
2,130
/E!
HERTR
- 829 829
THE | gfeme| 343
N NS 343
H ﬁ“ 49
N TP
I s E iy 43 43

PSTIRF B = AP 119 Bildpae = o ATENE S 2 ot g7 o

PS2.F1 2013/02/18 & (5 = 7 3 5t

104 7 2 FIpyRIEE ~ % > HEF S FI > 6,632 F 7% o 2 F[H]EE M B> Q‘Eﬁ;@
6,632 * % Eﬁ I 8 [ PNRBRFIBE > f BB F - 2 9 &
SRR N B 343 M I Eﬁﬁﬁ}343 SR £ VR

103 55 ™~ SRIQ FDPIME H R F R EEE R IIIR

i e MR
G 104 104 104 104 104 104 g 0F
CEIE 02 03 04 05 06 07
£ L E 6,632 6,632
(Z HHED
L:I',ﬁ"g’: ;(}Fﬂ; 6,632 6,632
ZHTOTED 100% 100%
ETEE S G
ZHEUTED 0 ’
i ﬁé_t eI wiHE
FIPFIEE ARG
103 8.5 ™ BRI E)TH IR HE I 53 G
il ML
5 104 104 104 104 104 104 | 7 F
CRIf 02 03 04 05 06 07
It E 343 343
(Z HAED
B GE- 343 343
=H71RD 100% 100%
9 PR GE 0 0
=EEVTED 0% 0%

19




s 7 A 162 1

i ﬁz;t HHH i
FIRfIEE e
103 5 ™ SHI2 EDF FSBIRTE SEL * kT
i e MR
il & 25 [ 3% [ 47 [ 55 | 67 1] ki
N el |
S | 5 865
Er—m
ﬁi%:[ E[Iﬁﬁ FIIEJ 865 "
ENNT
[Eﬁf'[ﬁﬁ# P 1106 1196
1= BE
@1{5[? HER | g3 e
Eleers
i ° 6
l%}ﬁ’é%’if'ﬂ 1395 -
2 = 5710
P 6575 6575

PSLLIH 68 P4 Al > F110L 5 11 7] 19 |1 A RPab B 5 21 -
PS2.F1 102 # 2 | 18 [ i £ 5T -

103 57 ™ SHAQ DR R B 0 2Lt

o i

R B

L 0 2

KXY
=

~

,J\

bl

= M

[

[

~ | T

\

o Hda | s | A ]S S

a2 P T

1| —

2 TR
v

| @

S NN

|2
=

20




